Cl44/15 ¢, A

T gIHIT / Government of India /

3afer fasmT / Department of Space
frsr RS 3T $% / VIKRAM SARABHAI SPACE CENTRE
f%asierqea / Thiruvananthapuram - 695 022

QAL H. 284 & ELGH
WRITTEN TEST FOR SELECTION TO THE POST OF TECHNICAL ASSISTANT (CIVIL ENGG.), ADVT. NO. 284
9% .1244 / PostNo 1244

faf/Date: 08.02.2015
Faifers 3t/Maximum Marks : 60 HHATime. 1 GeT/hour 30 fA=Te/minutes
3rsreft &1 Are/Name of the candidate e F=2/Roll no.

3 & AT 3refe 0/ Instructions to the Candidates

1. 3% NI 99 e H T U AT HA-eAlgT 3T K YR W IR ARG
e & foT 3mAfRa fhar mar 81 3 39 99 A vrerg 9fafse fr & ar AR fasas
& HTHR IOfETT Aegdr FA [ & al 9kl Al siEdiehd @ S|
You have been called for the written test based on the online data furnished by you in the web application. If you have

wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature
will be rejected.

2 ofieT T 3 e #T 3URRATY F & IUST -Rec/ORTE W AR HET IR

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. U%T-UF 60 WAl A ol G- d T H &l
The Question paper is in the form of Question Booklet with 60 questions.

4. 9eEl & 3ok foEs & T 3eRr MNTANR SccR-gReds & S|

A separate OMR answer sheet will be provided for answering the Questions.
5 FW el F F ARG wea-qfeger Aok @ (waldg), AtIR scR 9itge
fAfése vu=r 7 fowen @ifgw)

Question booklet series code (A/BICID/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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1.

12.

13.

14.

15.

cr%r—gﬁ?m H HTIHT ATH F2T HIshATS b Hg & o |

Enter your Name and Roll Number correctly in the question booklet. -
HTANR IeaR-qiedat A | wiafeear Aefi/arel Tl & afew wse 99 & & &5 s
Bl

All entries in the OMR answer sheet should be with blue/black ball point pen only.

9 £ AUIRE AeEdr & HUR W, fEd i 9 et &y sedfse w9
g1al, forTa & g ueh 3feTy &9 ¥ @E g

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

,Hma#,m—g%wﬁ%nm@é&ﬁ#&ama STell/ETell TR & dic gSe 9 &

INTAIR IceR-RTH F T Tl F 3w T 3cak 1 9T FEAT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

UF 9T & AU 3@& 3ca] & W 98 3ol Aol AT SO ITed_3eaki & fau
AT 3w AR Sreem|

Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.
fof@ gleT gemare gfd & ey Fe, Hemoey, A B aur 3 seEeE
T, IS-TEdh, Ale MM Aot Hr IefAfa 78 & e

Computers, calcuiators,_ mobile phones and other electronic gadgets, text books, notes etc.. will not be allowed inside
the written test hall.

e o A HTAHR IeR-GRIF F 3R & 3ar Read ¥ w12 3R Hq&
AR IecR-iecar e a1 d9 For gud 9fa 3 o @)

On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with you.

qa#-gf?aa:r A Y I TG Fhd B

The questic;n booklet can be retained by the candidate.

TG & w2 G¢ & aRi 3t A odiew g ol A Al A8 R

Candidates are not permitted to leave the examination hall during the first hour of the examination.

A F WRTR & FHEdEeCAREST w6 v & R wler T
ST Bl

The written test is conducted only to shortlist/screen-in the candidates for interview.
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dhairehl Terdes (Rfed =TTl /TECHNICAL ASSISTANT (CIVIL ENGINEERING)

T SE1S “L”, YITH AW E. 77 27 38 “W” @ Johd Ueh &I Fleclelay ald &, 379eT HR Hr
I[UTAT T i gy, FTEET—— &l / The end deflection of a concrete cantilever beam
with tip load “W" of effective length “L”, Ec the Young’s modulus, neglecting self weight is

(@) WL3/3EI

(b) WL/AE

(c0 WL/4

(d) ﬂ'éj)?r'?-rﬁ o oY a‘é"r/ None of the above

A Fol TGS & 1/3 o SR T WSS § Tl Teh Fold I HET Folel —— & i &1
ST 81 / The main reinforcement of a slab of width equal to 1/3t its overall length is provided
along the

(a) =M &aTE /Shorter length
(b) &FAY &&TS/Longer length
(c) @Il &=y sreR/Both directions equal

(d) eSS ST R #/Dia gonal to the length

TISTS “b” TUT TENE “d” Y JoreT Teh 3ol TR 1A o ST “p” & T397 Tolel (As) FT wgAci 817

w__n

€l / The minimum area of tension reinforcement (As) of steel “p” in a singly

reinforced beam of width “b” and effective depth “d” is
(a) 0.85bd/fy (b) 0.85bd (c)  0.5bd/fy (d) bd/fy

g §T\T qTAY ZaRT fT SiAarel gt it ———— Fgd €1 / The soil transported by flowing

water is called

(a) wATHe fAET/ Aeolian soil
(b) HHT ALY/ Marine soil
() BRI A/ Alluvial soil
(d) Yelrel fAET/Sandy soil
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SfF Y TF I 3 Aot § TG WY FHIE F T AR IR T & A 37 FIe H HfFaR
MR —— H AT SEr g1 / Retaining wall is provided with a trapezoidal cross section
to withstand earth on one side, the larger base of the section is provided at the v

(a) 3TYR/Base

(b) 37T ET/Fore end

() © AT/ (a)or (b) _

(d) SC{?;;?’?{ # ¥ s o Ag1/None of the above

Hle & 7 et TdsH 9 F Hahele §d [T 7T A & JAH ——— §| /The dimensions of

specimen taken for estimation of 7 day compressive strength of concrete is

(a) 150 x150 x 150mm
(b) 10x10x10mm

(¢) 150 x 300mm fAfeiEY/150 x 300mm cylinder
(d) fordr 8ff 3maTA &/0Of any dimension

37ef1-373fT =T T IRERT FE F FAT A —— ST STl U Haf e wefad Aar
ART| BT 7 I RHerord TAT ore wfaae 1 AIHAT 38 FHAC B HAT T3 HH-J-FH IHA GILAT

ol hehiIT &I It g1 d Ig 37a1¥r T8eir| / Forms of freshly laid rcc work should not be struck for

a period called - until the concrete has reached a strength at least twice the stress to
which the concrete may be subjected to at the time of removal of formwork

(a) seNf3aT &HTeT/bleeding time

(b) &I FHIeT/ stripping time

(c) AfET HIeT/ setting time

(d) 3'q?‘-‘l;ci'?r & U 3 €T/ none of the above

150 T3, sara a@ar 300 A, ST &F SAATHR FHAT T ITANN FHIC o ——————— HT HTRel
A %?:I; T ST g1 / Cylindrical specimens of diameter 150mm and height 300mm are used to
estimate ——————— of concrete

(a) 3TTHA Fof/Flexural strength

(b) HHIEH &eT/Compressive strength

(c) Tawed defsl &el/Split tensile strength
(d) 3hIT/Creep

4 ClI44/15



10.

11.

12,

13.

IRERY f#TT & Fed15 7 3F § - / Fed15 in RCC construction implies
(a) T 415 WIET/Iron of grade 415 s

(b) IRERT F yged 3Ta WeE GHEE OFT gEad @ afedm /High Yield Strength
Deformed steels bars used in RCC

(¢) AT THACHS FEITT/Mild structural steel

(d) 3udFa # & vs ofr 7L/ None of the above

ST SEITT T9F AT ———— ¢ | / Mild steel has Young's modulus of

(a) 21000 kg/mm? (b) 7000 kg/m?

(c) 42400 kg/mm? (d) 2100 kg/mm?

I frE P F I W I A s e ar 3a fAgr &r W%I/Whenthepores of

a soil are full of water then the soil is called
(a) sfrelt fAEY/moist soil

(b) tj'j’ﬁ'FFé?IT TER fAET/ fully saturated soil
() gucT fAEY/ plastic soil

(d) SterafSa A€/ hydrated soil

e feemat & gaer a;wfm‘f ¥ gFd 0F QY FEd &1 /A material with

identical properties in all directions is termed as

(a) WITEY/ Elastic
(b) HFAA/Composite
() AW/ Isotropic
(d) cenf¥es/Plastic

AT IaRaT & WA ——— R A A &1 /Limit of proportionality depends upon
(a) #RUT & YR/ Type of loading

(b) & & SR/ Type of material

(c) 3IHTWEY HIC & &/ Area of cross-section

(d) SFTH & U 8 %1/ None of these
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14.

15.

16.

17.

TS L ¥ YT UF Hecra] A, e e ) GHd 9% &, & HFd 39 (A) FH FE rgor
gl / Bending moment at the free end (A) of a cantilever beam of length L with
concentrated load "W" at the tip is

W
= I z
(a) @S/ Maximum (b) =T/ Zero
(0 WL (d WL/2
T ST AR @ T WfERd: ————— W A HIAT &1 /Strength of a beam section
primarily depends upon

(a) <hdol 3H PIA-HaFUTd TSR/ Its cross-sectional shape alone
(b) RIS AGYAH/Section modulus
(c) €S #ATH/Length alone

(d) SET #HROT/The external loading

3THA0T &7 F90 fAdedd @ ———— &1 / The most economical section in bending is
(a) 3TS-TFAA/ Tesiallon

(b) FedrpR a2l / Circular section

(c) 3TTARR Heel/Rectangular section

(d) DeTer JereA/Channel section

m'cﬁ 3TCRTC|'UT ﬁ'é‘ljﬁf — 9TEETEI / Maximum shear strain occurs on
(2) Tfeager st/ Principal planes

(b) RfFEger wa=t & @y 45 f33f1/45deg. With principal planes

(c) TifFgge <t & @y 90 f33f1/90deg. with principal planes

(d) EQ'{iﬁ |31/ All of above
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18.

19.

20.

21.

Wm%wwﬂmmmﬁm@qﬁw_ml / Hoop stress induced

in a thin cylindrical shell due to internal pressure will be

(a) delel/Tensile (b) U/ Compressive
(c) 3TUEYUT/Shear (d)  Uas/Torsion
A feu e, sromths TR S1F & mmqp‘rm—— gl / The bending moment

diagram in a beam subjected to loading shown below is

w w

!
P L

(a) Y@/ Linear

(b) TaeAd/Parabolic .
() Ty ffed & W iR 38@F 9 IXadld%/ Linear in cantilever portion and

thereafter parabolic

(d) ﬂ'{iﬁ # & v ofr €7/ None of the above

maﬁmﬁ——m%,ﬁw?ﬁaﬁrwwwmaﬁ%mm| / The survey in

which the curvature of earth is ignored is termed as
(a) SFOTA TA.TUT/ Geodetic survey

(b) TTIERT HAETUT/ Aerial survey

(©) THANT TIeTuT/ Plane survey

(d) mﬁmﬁmﬁm / Geological survey

Tfeqor & 3HTHUE — B 6 1/ Offsets in surveying are

(a) ®rg IR AF-AEA/ Chainlines out of alignment

(b) TA-oMST ¥ BIC HAYA/Small measurements from chainline

() "‘{@FIT FdeToT # AT 9T ATY/Measurements taken in chain survey

(d) 39deFd A & U 3 7El/None of the above
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22.

23,

24.

2D;

26.

T, Shaa a1 698 R F 3faRea, 3iferEmedsr & forw st gar & wara W e fam sirar § a9 FHic
A 1A dfdae ————— o 30 FRIT ST HFATE 1 / When the effect of wind is considered

"
for design in addition to dead, live and impact load, the permissible stress in concrete may be
exceeded upto a limit of

(2) 40.3% (b) 50.3% () 3333% (d) 43.33%

T3t & et Arve o Petaf@d A @ i3 3THIOT I 3T fRAT ST HAT &2 / Which of the

following instruments can be used for direct measurement of directions
(a) TISHT HIR/Prismatic compass

(b) TdeTH HITH/Surveyors compass

(© 3"51'!3% # ¥ FI5 #fi/Either of the above

(d) 39IFa A ¥ v o g1/ None of the above

gESThI 8 ————— FHAEIHAT & Heig £ | /Hydrographic survey deals with mapping of
(a) &3 STATAT/Large water bodies

(b) & FElr 313/ Rainfall data

(c) uddT &/Hilly area

(d) 218/ Cities

W gdeTor gaw 37U 9 § 91/ Chain surveying is most suitable when

(a) WasaRiF @Y Eqﬁ-T ‘{U‘f T Y AT 0 !g?h’ §/Ground is fairly level and open with simple
details

(b) &7, RTIR A BIEI§/ Area is small in extent
© 3 t\?:ﬂ?f X T3t < 379877 ¥/ Plans are required on a large scale
(d) T T/ All of these

HIROT J2T yaford Fade F T ard A #1536 d#88 ———— &1 / The Indian

standard code of practice for plain and reinforced concrete is

(a) IS456 (b) IS 875

(© 15800 (d) 3udFd # & TS o 7€/ None of the above
8 ClI44/15



27

28.

29.

30.

TAfat@aa & O sl Hga &Har ey 0s &7 /Which one of the following can have
highest bearing capacity?

(a) SN =eld/Hard rocks

(b) TIET SiTef, Heled AR Yeeh/Coarse sand, compact and dry
() H&TH dIef, grem 3 s/ Fine sand, loose and dry

(d) ol WiesT Wgel/Black cotton soil

IR et F A F (SsrS = &), 7R i FATE HTHAT Sehadm — e OfATRl/
In case of rectangular foundations (width=B), the maximum permissible eccentricity of load is
limited to

(@) B/2 (b) B/6
(c) B/4 (d) B/12
FIg Aia ge IS & At SHFRT FHST RO ——————— g1 /If a foundation has failed, the probable

cause could be
(a) 3T Fr AT cTIEUT/ Unequal settlement of subsoil
(b) TRTAT & AR &1 3EAT FAaRoT/ Unequal distribution of weight of the structure

() TIEar & faery Sﬁ:ﬁ' Fr &fas gIId/Horizontal movement of earth adjoining the.

structure

(d) 30dFa & & F15 $71/ Any of the above

Fas #+3/Quick sand

(a) dg EITE‘T\B’WHT IGIEED F_I}H FHR T8/ Is the sand that immediately accepts moisture

(b) d@ El‘IFj'\EﬁHT tarafa s CIEGE:] W HESIGIH %’/ Is the sand that expands when moisture is
added

(©) mﬁmmgmﬁimﬁwmmﬁm%a&aﬁqmmmﬁ#w
A qat 7 v R 1 goret gt €1 / A condition is created in saturated thick layers of

loose fine sandy soils when disturbed either due to vibrations or pressure of flowing water

(d) U fafee & 3 &g & e # 39T foRar ST gl / Is pure silica and used in glass
industry

9 CI44/15



51

3z

33.

34.

& ROT Ueh 3TC TET STAFRAT &1 / An arch may fail by
(a) 9erf F 3rqedor /Crushing of the material P
(b) U ST Ye2R & gHY T HIHAT & A1/ Sliding of one voussoir on another
(c) 3fCATYRT $T 37GA FGEAT/ Uneven settlement of abutments
(d) 3?{@??—!‘ H ¥ #I5 a1 Fsf/ Any or all of the above

ardreldhefed H—— oo oanfaer g1/ Air conditioning involves control of
(a) 3THUME F ATIHA/ Surrounding temperature

(b) sTH/Humidity

(© g HIIUT/ Air circulation

(d) ﬂéﬁ—ﬁ FHY/ All of the above

ET:REEED ?IT:!:W;{ &I 3a2TH RUfd —————— ¥ / The necessary condition of equilibrium of a
body is

(a) ol & @ &ifdsr weat #1 dohw sig =@ @ @RI / The algebraic sum of all the

horizontal components of the forces must be zero

(b) et & mfrm‘m el #w AT g YT AT =METI / The algebraic sum of all

vertical components of the forces must be zero

(c) W%@WW*W WWH’E?];FJ@FTF?-IT%'UI/Thealgebraicsumofﬂle '

moments of the forces about a point should be zero

(d) 39gFa FM/All of the above

HIUROTERT FARI U i 9T o SR & HROT FaierT et 0T — @ 21 / The

maximum bending moment due to moving load on a simply supported beam, occurs
(a) @8 ¥ 9T/at the mid span

(b) HHAYAT TX/at the supports

(0 ¥R F MA/under the load

(d) =1H # §I STE/everywhere along the beam

10 CI44/15



35,

36.

B7.

38.

39.

FPIC H HoATH FANSS &I FHATAT ———— FI SRUT BT &1/ Addition of calcium chloride

in concrete causes

(a) §&d daf/Increased strength
(b) worE 3™ F Heldi/Reduction in curing period
(c) AATATEN ﬁ_ﬁa?f/ Retardation of loss of moisture

(d) sq'éaamﬁ/All of the above

WF@WWW?WWWW———?W%I / An aggregate is said
to be flaky, if its least dimension is less than

(a) 2/3 HET TATH/ 2/3 mean dimension
(b) 3/4 AT 3TATH/ 3/4 mean dimension
(c) 3/53ATET HTTTH/ 3/5 mean dimension

(d) 5/8 AT HTITH/ 5/8 mean dimension

TR 3T i & 39w 9oT yaeet ——— ST Uik e & fore vere fFar Srar &1 / Shear

reinforcement in a RCC beam is provided to resist
(a) TaFUTAAA/ Diagonal tension

(b) dha glaEer/ Bending stress

() s crf?rar»r/ Compressive stress

(d) T&gUT 39EIUT/ Punching shear

9= & 9Tell T pH Hed - q T BIT TR T| / pH value of drinking water
should be in the range of
(@) 1to10 (b) 2to6 (¢) 65t085 (d 85to10
IIATASAAT deiel H I8 U 3T Teh el HSR Pl ————————— FEd ¢l / A steel member that is
primarily loaded in tension is called
(a) TIS/Tie (b)  2SATAHA/Tie or beam
(c) TEe/Strut ' (d) TEeE/Sling

11 C144/15



40.

41.

42,

43.

oleefT & AT 59 376 891 & a9 JHEIARAT —— & [oIU Fi5 gerd 767 el | / While

estimating for plastering, usually no deduction is made for -
(a) &YAT % 3I/Ends of beams

(b) 0.5 #H. g% F BIT BG/Small openings upto 0.5 sq. m.
(c) YU I 3H9/End of rafters

(d) I9dFa @f/All the above

e T 2 1m TS F T ST &5 A B 3 T g §| i A 200mm T T FS e 3
100N 1R 9 & 3R g@Y @15 &0 & &3 & forerell 3R o T HR 97 §| I &3 & 79 R $1 815
mm%ﬁmmﬁgﬂmﬁﬁmﬁmWﬁ/Anelasﬁc rod of length 1m hangs

downward from a support. In one load case, 100N load is applied at 200mm from the support and
in the other load case, same load is applied at the bottom end of the rod. If the self-weight of the
rod is neglected, what is the elongation in the second case compared to the first case

(a) HHATT/same (by ar AT HH/2 times less

(c) 57+ HTAH/5 times more (d)  2.57 HfAF/2.5 times more

ws AR &3, foras ¥ R 1 T g AT HR d HR T o= # gad Ay o v AfaieFa amw
@f?’ga—?f HATA ag@‘gﬂmaﬂﬁqw, Eﬁ'l'?kai‘c;“@' T 3Feqqrd g9/ The ratio of elongation in a prismatic

bar due to its own weight was compared to another similar bar with same weight and an -
additional load of W at the free end in the direction of weight will be

(a) 1.2 by 13
() 41 (d) 14

Teh ST AR 379+ T AR & 3efieT SeaTer [ 3 oreehn g3 &1 3 $TaTa Y ge7e 8000 kg/m3 3
3FTAT Tfaae 200 N/mm? § &t Rl siaTé 7 qR-IEaT, fawerar & fem seafer fee 3 e s
THhaT 8? AT of g =10m/s2. / A steel wire hangs vertically under its own weight. How much
length of wire rope can be hanged vertically without failure, if the density of steel is 8000 kg/m?

and allowable stress is 200 N/mm?2. Assume g =10m/s?

(a) 3INAT/No limit (b) 25m
(¢ 0.25m (d)  2500m
12 Cl44/15



44.

45,

46.

47.

T 3T, T detel ol P a7 o T o G0 H SHR WA HTE FIC A §1 &89 A FT O FITH
gfavoras fRm F A & aRome Fawd wied fade ao # —————— 3r9%9or gfdee giar g1/ A

member subjected to tensile force P and its normal cross section perpendicular to force is A. The
resulting shear stress in an oblique plane obtained by rotating the area A by an angle 0 in the
clockwise direction is

P P .
(a) ZCos220 (b)  -;Sin20
Pe.. P
(c) Sin220 ‘ (d)  5;Cos20

Ife U do 9gre UH-3iT aeiet 97 & T H ¥, dF 39RIUT ¥ g9 & foIw, 921 i 19T 9w goT
HHLY FAYHH ———— FH AT gl IigCl/If a ductile material is subjected to a

unidirectional tensile force, then to avoid shear failure, the material should have its shear strength

at least equal to

(a) 3T delel AL/ its tensile strength

(b) TIeT TTHLA &7 3TEM/half the tensile strength
(c) HT=TT HUIEA |HLY/its compressive strength

(d) o S g7leT/twice the tensile strength

mﬁmmzmwwmwm,ﬁmm#mgmaﬁwaﬁmmm
gfereer 500 N/mm? & If& 91 ¥ 25 bar dF aifad fFar Srar g, aF 9T & fow 3nfaa Aers g/

A spherical vessel with an inside diameter of 2m is made of material with max allowable tensile
stress is 500 N/mma2. If the vessel is pressurized to 25 bar, then the thickness required for the
vessel is

(@) 2.5mm (b) 10mm () 5mm (d) 1.25mm

L m % 0F R &3 H 3ehT ¥ & 1 mm & oFa frr mm & & fopfa &

A cylindrical bar of L m deform axially by ‘I’ mm. The strain in bar is

1

1
1 1
() 0.001: (d) 100;
13 CI44/15



48.

49.

50.

L.

2m g & o 3cafs Te ARG U (EH) H et FORT o) st & aifast Feufa & ameifed fomar
ST &1 T FaY 7 3eToey Fie % 100 mm2 & JFd 2m €5 T ST 3Telat IR ggy Ay A
3TTEY FHTE &TFHe 200 mm? H o 1m FaTS Hl TogHT1H 3Teld & | FlS ST T E, 200 GPa FT
TEIHITAIHA &1 100 GPA B, A $EIT &3 & 3N A &l P 1 AT a1 9o 81T =g e, arfer &iferst &9
& g f1e T §ATT W/ An infinitely rigid weightless beam of 2m span is supported in horizontal

position by rods at each ends. At one end, the support is 2m long Steel with cross section area
100 mm? and at the other end it is 1m long Aluminium with cross section area 200 mm?2. If E of
steel is 200 GPa and that of Aluminium is 100 GPA, what should be the position of a force P from

steel rod side so that the beam remains horizontal

(a) @Al &8l 9T ocl THTA gt AIfgT/Forces on both rods should be equal

(b) ZEATT Tar AT el U?{mﬁﬁlﬁ @5 9 glaT T2 T | /Force on Aluminium rod should be twice
that of steel '

(c) TIFNfAIIa & & =T &l SEUI &5 W gl=AT AMFT|/Force on steel rod should be twice that of
Aluminium

(d) Hﬂﬂﬁ? /Unpredictable

40 m SETS FAT 10m TAH aTel TS Folel 9T 20,000N T Ueh SR TGF FAT ST 81 el 0.8m T
Fee g3 3R 3  0.05m 1 & g1 1A T SaTHT 31T &/ A load of 20,000N is applied to a

cylinder, 40m long and 10m diameter caused an extension of 0.8m and the diameter to decrease by

0.05m. The Poisson’s ratio of the material is

(@) 25 (b) 04 (© 0625 (d) 025

AT WA § FATC 7 &1 el & 10 d T d /281 &1 3 A BIE AvFe T a7 HTeOT &7 el 1 e
g€/ Two solid shafts are made of same material and have diameter d & d/2. The ratio of the torque

capacity of bigger to smaller shaft is

@) 4 (b) 2 © 8 @ 16

T carar 3HeIdTe 0.25 ?HTWW@'WWWWW £/The ratio of shear modulus

to the modulus of Elasticity if Poisson’s ratio is 0.25

@) 04 (b) 025 © 40 d 05

14 : CI44/15



52.

53.

o4.

85,

56.

UF JTH-EROT (Fedielar §1) & Fara faY & goiel o Fei1fae dehel 3ME0T 3G 8197/ The bending

moment diagram of a cantilever beam subjected to a moment at the free end will be

P

(a) T3eIUT/Triangle (b)  3HTId/Rectangle

(c) Waed/Parabola (d)  °s Tdold/Cubic parabola

= AT FORT IR AT e U fH & 7 7 1S ve foig R e S ¢ ar diferehde sahe
e M grar &1 afe ot 1R 1 i T R FATT &9 F FAaie L al, T & 7R F Slght Jifthda

CET) BWEI‘;U% greT/ If a beaﬂm simply supported at its two ends is loaded by a point load at the middle

of the span, the maximum bending moment is M. If the same load is equally distributed over the
beam span, then the maximum bending moment, neglecting the weight of beam will be

@ M/2 (b) M ©  M/3 d) My4

gt FRORT oY Tt & 37Tag WH (FleH) FHr @?ETE!E'I? &/The equivalent length of a column fixed firmly
at both ends is

@ 2¢ (b) 07¢ © ¢ (d) 05¢

& g8 el 7 I AGH E = 200 GN/m?, TEar HAMGTF G = 80 GN/m?2 &1 SHHI 3T AR K
grM/For a given material, Young’s Modulus E = 200 GN/m? Modulus of Rigidity
G = 80 GN/ma2. Its Bulk Modulus K will be

(@) 100 GN/m? (b)  133.33 GN/m?
(¢) 22222 GN/m2 (d) 250 GN/m?
T 1 T Sgalel A aad S ol H ——————— ITEIUT FFAael §19M/When a beam is subjected

to bending, the shear stress in the top fibre will be
(a) 3TAHIA/Maximum

(b) ITH/Minimum

(0 Y=d/Zero

(d) 3IITed 31eT/Insufficient data
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ST d dTel IR (ATAR) H Ueh 37X P 9l TohalT SITar & I aray 1 Frsam gapelr Y ameft 8 3R swar
3T F3RAT ST &, S ST T9T AT 8191T/A load P is applied to a wire of diameter d. If the radius of

a wire is doubled and reduced the load to half, then its Young’s modulus will be

(a) W/Doubled (b)  37Y9x FoRaT/Halved
() HJHICET TEAT/Remain unaffected (d) V@ SI=/Becomes one fourth
T g T JeaTE HIAT & e FAT N ST Feohotarell JfeHaA Fafd st —————— F w0 &

ST STelY 81/ The maximum strain energy that can be stored within elastic limit in a body is

known as

(a) ¥YE FaAl/Impact energy

(b) ﬁfﬁ' Fll/Resilience

(©) ﬁ%ﬁ:’f FaAT T AR/ Modulus of resilience

(d) w&TOT ﬁ?ﬁ' F4i1/Proof resilience

Teh AT eclofad diH & HeFd Y I HR TG Sl 8, Faheldr ———— ¥ g1f/ The load at

the free end of a uniform cantilever beam is increased, the failure will occur

(a) HET H/at the middle
(b) 3TEg RAY 9X/at the fixed end
() X Qﬂﬁﬁgq/at the point of application of load

(d) T H “ch‘ﬁ'/anywhere in the span

STt T AT S , TR 7 A TS SR 1200 MPa 3R A1 7 3R qeet
wfdeel 300 MPa 81 afg 17 1 80mm 3g0S & AT F9 ToT & 3G 38T (Fgg e ufarad) g1/ In an

unsymmetrical beam under bending, the maximum compressive stress at top is 1200 MPa and the
maximum tensile stress at bottom is 300 MPa. If the beam is 80mm deep, the neutral axis from the

top surface will be

(a) 60mm (b) 64mm ()  40mm (d) 32mm
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